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import matplotlib.pyplot as plt
import numpy as np

n=1024

X = np.random.normal(0, 1, n)
Y = np.random.normal(0, 1, n)
T = np.arctan2(Y,X)
plt.scatter(X, Y, s=25, c=T, alpha=.5)
plt.xlim(-1.5, 1.5)

plt.xticks(())

plt.ylim(-1.5, 1.5)

plt.yticks(())

plt.show()

) i
e o 88, St e S B e G
4 DA ;%3'?? gl ¥ ws °
05" 8 0% #f*hi e T N
& L i*;."‘ 'Tt‘_; :

Python i ds 7 #r 5 M




— P HRUREZR

Hbs: RN S5 R Ae B8 5 =5 ANAE IR 1 o3 A BARSR

EINE])

| £/ (sepal) Fifti (petal) HIK/NRFR

| REFZE (species) & JEEE AL IET K/NR R

16 1 L

14 - :,‘i
12 A e g ° ':
10 - ® "oo pk= "
wes o
d n - £ o ]
L o.“..g ™
< ..ﬂ:t. oe®
e .o"‘t
2-
0l * o anwdethe o

T T T T T T T T T
o 125 150 175 200 225 B0 275 300

10

0.5 A

B3

Python %4 73 #r 5 W

I 2C5E R 4155

: 5] B e
] . o L]
® °
LIE A~
e, o * o o d
“ " 4 4 '.T
e *® ot * g ®
15 20 25 10 15 20
. -




W

e

import numpy as np flag =1

import pandas as pd for name in df.groupby(['/725']).size().index:

import matplotlib.pyplot as plt sepal_size = df[df['/;2&'].values == name]['E F R~]']
df = pd.read _csv('file") petal size = df[df['432k'].values == name]['{E#F R ~]']
df[" = 5 R~ [=df[ "= 5 58 EE (cm)' T* df[" = 5 KR (ecm)'] plt.subplot(2,2,flag)

df["TEe KT 1=df[ ' 7E I %2 2 (cm) ' TR F[ ' PE RS (em) '] plt.scatter(sepal_size.values,petal_size.values)
plt.scatter(dfl "= J R~51,df[ " 1EE ') flag += 1

plt.show()
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ax = plt.gca() #gcaszget current axis
ax.spines['right'].set_color('none') #W¥&GIUEET
ax.spines['top'].set_color(‘none') # & & IiA BTG
ax.xaxis.set_ticks position('bottom’)
ax.spines['bottom'].set_position(('data’, 0)) # ¥ &)KiL7E0
ax.yaxis.set ticks position('left')

ax.spines['left'].set position(('data’,0))
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plt.xticks([-2*np.pi,-np.pi,0,2,4],['$-2\pi$’','$-\pi$',0,2,4])
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plt.annotate(s="$b=4-(%s-2)"2 $"% al, fontsize=16, xytext=(+4, +2),xy=(al, bl),

arrowprops=dict(arrowstyle="->"))

| s: FRARE, —BCF 1—e il—e
| xytext: XBOCFAT AN & Fl—e f—e
| xy: kB mA & —e @

| arrowprops: iEitarrowstylez B i Sk (1 RA& Bifh 2% . [7]—® [fancy|=— @
=]—@® [simple|—=@
[zz]s>@ [(wedge|=—@
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